

KENN-FELD GROUP www.kennfeldgroup.com

Woodburn, IN (260) 632-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 678-2375 Archbold, OH (419) 445-1565 Edgerton, OH (419) 298-2302 Napoleon, OH (419) 592-3075 Angola, IN (260) 665-5820 Wauseon, OH (419) 335-7368 Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

Deliver To: SERVICE INVOICE

FRED HORWATH 14640 WALDRON ROAD WALDRON MI 49288

Invoice To Account No: 6597

FRED HORWATH 14640 WALDRON ROAD WALDRON MI 49288 Invoice Number: Invoice Date Location: Work Order Number:

Payment Type:

835244 11/08/2018 4 148331 Finance

Bus Phone: 517-286-6376 Prv Phone: 517-610-1576

Bus Phone: 517-286-6376 Pry Phone: 517-610-1576

Page:

(1 of 4)

Make/Model:

Meter 2550

Serial Number: H09660S716773 EQ ld: 15292W Fleet No:

John Deere 9660STS Service Reminders:

/TBD Engine Retail

COMPLAINT:

01 The tailings slip clutch is going off. Fred cannot spin the shaft.

CORRECTION:

Drove to the field and found why the tailings elevator slip clutch is slipping. Found part of a discharge beater grate stuck in the upper tailings auger. I removed the piece of grate. I then checked the combine for internal damage and found sever damage in the discharge beater area. This is more damage than can be repaired in the field during harvest. I sent the combine in to the shop for repairs.

PartNumber	Description	Quantity	Net Price	Extended Price	Taxed Ind
03M7192	BOLT	6.00	\$0.78	\$4.68	N
03M7375	BOLT	40.00	\$1.18	\$47.20	N
14M7296	FLANGE NUT	48.00	\$1.06	\$50.88	N
14M7299	FLANGE NUT	4.00	\$1.43	\$5.72	N
19M7786	SCREW	24.00	\$1.13	\$27.12	N
19M7820	SCREW	2.00	\$4.65	\$9.30	N
26M6787	SHAFT KEY	1.00	\$8.32	\$8.32	Ν
AE23539	LINK CHAIN	1.00	\$29.00	\$29.00	N
AH133191	LOCK COLLAR	2.00	\$11.91	\$23.82	N
AH137630	CHAIN LINK	1.00	\$5.10	\$5.10	Ν
AH138230	LINK	2.00	\$52.25	\$104.50	N
AH139296	BALL BEARI	2.00	\$27.72	\$55.44	Ν
AH142000	HOSE	1.00	\$44.31	\$44.31	Ν
AH148021	ROLLER CHAIN	1.00	\$219.63	\$219.63	N
AH163056	BEARING HOUSING	4.00	\$50.28	\$201.12	N
AH209123	TINE	1.00	\$194.64	\$194.64	N
AXE19366	Grate	1.00	\$742.39	\$742.39	Ν
H135410	FLANGE	2.00	\$3.97	\$7.94	N
H135891	LOCK NUT	24.00	\$1.14	\$27.36	N
H154731	V-BELT	1.00	\$44.39	\$44.39	N
H154928	Bolt	2.00	\$4.67	\$9.34	N
H164785	FINGER	2.00	\$143.49	\$286.98	N
H171037	PRESSED FL	1.00	\$8.79	\$8.79	N
H202562	Finger	1.00	\$125.52	\$125,52	Ν
H219182	V-BELT	1.00	\$88.93	\$88.93	N





Woodburn, IN (260) 632-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 678-2375 Archbold, OH (419) 445-1585

Edgerton, OH (419) 298-2302

Napoleon, OH (419) 592-3075 Angola, IN (260) 665-5820 Wauseon, OH (419) 335-7368

Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

Invoice To Account No: 6597

14640 WALDRON ROAD

FRED HORWATH

WALDRON MI 49288

John Deere 9660STS

Deliver To:

SERVICE INVOICE

Fleet No:

FRED HORWATH 14640 WALDRON ROAD

WALDRON MI 49288

Invoice Number: Invoice Date Location Work Order Number:

Payment Type:

11/08/2018 148331 Finance

835244

Bus Phone: 517-286-6376

Bus Phone: 517-286-6376 Prv Phone: 517-610-1576

Page:

N

N

N

N

Value

\$354.90

Prv Phone: 517-610-1576 Make/Model:

Meter 2550

OL&M: \$354.90

Serial Number: H09660S716773 FO Id: 15292W 2 of

Service Reminders: SUPPORT H221379 5.00 \$129.31 \$646.55 H236279 Strip 10.00 \$38.58 \$385.80 HXE28064 Sheet

JD7845 JD8554

ELBOW FITTING LOCK COLLAR

Parts: \$3,641.40

1.00 \$210.11 \$210.11 1.00 \$3.76 \$3.76 4.00 \$5.69 \$22.76

OL&M Charges:

Description Plate repair Labor: \$341.24

Misc: \$0.00 Sub-Total: \$4,337.54

/STS Combine Inspect Retail

COMPLAINT:

02 Seasonal Combine Inspection--Does not cover travel time.

Travel time billed separately to customer.

Agreement price \$350.00, Non-agreement price \$438.00

CORRECTION:

After inspection was done we found: Needs to replaced feed accelerator belt Shoe drive belt Clean grain jackshaft belt Lower feederhouse door needs replaced Needs new auger tube and shield

New mass flow sensor

New slide in knives

Needs new lock pins on both side that are missing on straw chopper and bottom drop door

Needs a new z-bar

Air filters and hydro tank low

Labor: \$350.00

Parts: \$0.00

OL&M: \$0.00

Misc:

\$0.00

Sub-Total:

\$350.00

/InspectionRepairs Retail

CORRECTION:

PartNumber Description Quantity Net Price Extended Price Taxed Ind 03M7192 BOLT -3.00\$0.78 -\$2.34 03M7375 BOLT 17.00 \$1.18 \$20.06 N





Woodburn, IN (280) 832-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 678-2375 Archbold, OH (419) 445-1565 Edgerton, OH (419) 298-2302 Napoleon, OH (419) 592-3075 (260) 665-5820 Angola, IN Wauseon, OH (419) 335-7368 Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

Invoice To Account No: 6597

14640 WALDRON ROAD

FRED HORWATH

WALDRON MI 49288

Deliver To:

SERVICE INVOICE

FRED HORWATH 14640 WALDRON ROAD

WALDRON MI 49288

Invoice Number: Invoice Date Location:

Payment Type:

Work Order Number:

835244 11/08/2018 148331

Bus Phone: 517-286-6376 Prv Phone: 517-610-1576

Bus Phone: 517-286-6376

Prv Phone: 517-610-1576

Page:

Finance 3 of 4

Prv Phone: 517-	610-13/6	Prv Phone.	317-010-	1376		raye.	()	01 41
Make/Model:			Meter	Serial Number:	EQ ld:	Fle	et No:	
John Deere 9660S	STS		2550	H09660S716773	15292W	-		
Service Reminders	;						1	
14M7296	FLANGE NUT				38.00	\$1.06	\$40.28	
19M7786	SCREW				-2.00	\$1.13	-\$2.26	
19M7804	SCREW				3.00	\$1.67	\$5.01	
19M7814	SCREW				4.00	\$2.28	\$9.12	
19M8241	CAP SCREW				2.00	\$2.41	\$4.82	
26M4226	SHAFT KEY				1.00	\$2.25	\$2.25	
26M4228	SHAFT KEY				1.00	\$4.48	\$4.48	
34H286	SPRING PIN				4.00	\$0.53	\$2.12	
34H333	SPRING PIN			tists or a si	4.00	\$0.95	\$3.80	
49M6480	SHAFT KEY				1.00	\$2.56	\$2.56	
AE23539	LINK CHAIN				1.00	\$29.00	\$29.00	
AH129452	LOCK COLLAR				1.00	\$10.09	\$10.09	
AH136497	SEAL				1.00	\$18.76	\$18.76	
AH137630	CHAIN LINK				-1.00	\$5.48	-\$5.48	
AH144822	Pulley				1.00	\$207.54	\$207.54	
AH146786	AUGER				2.00	\$151.90	\$303.80	
AH146787	AUGER				2.00	\$151.90	\$303.80	
AH165609	BALL BEARI				1.00	\$101.24	\$101.24	
AH168161	BALL BEARI				1.00	\$51.93	\$51.93	
AH171008	BOOT				1.00	\$762.55	\$762.55	
AH214862	BALL BEARING				4.00	\$16.49	\$65.96	
AXE28559	LINK CHAIN				1.00	\$446.31	\$446.31	
AZ10044	ECCENTRIC				1.00	\$6.88	\$6.88	
AZ10045	LOCK COLLAR				3.00	\$7.79	\$23.37	
E10018	FLANGE				2.00	\$3.33	\$6.66	
H133143	SPROCKET				1.00	\$46.04	\$46.04	
H135410	FLANGE				-1.00	\$4.01	-\$4.01	
H135891	LOCK NUT				-24.00	\$1.14	-\$27.36	
H137215	GEAR				4.00	\$27.84	\$111.36	
H148270	Bracket				1.00	\$19.06	\$19.06	
H150269	SHAFT KEY				1.00	\$1.15	\$1.15	
H152914	ANGLE				1.00	\$38.26	\$38.26	
H152916	FLANGE				2.00	\$5.33	\$10.66	
H164796	SPROCKET				1.00	\$37.88	\$37.88	
H165407	PLATE				6.00	\$18.27	\$109.62	
H165408	STRIP				4.00	\$24.21	\$96.84	





Woodburn, IN (260) 632-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 678-2375 Archbold, OH (419) 445-1565 Edgerton, OH (419) 298-2302 Napoleon, OH (419) 592-3075 Angola, IN (260) 665-5820 Wauseon, OH (419) 335-7368 Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

SERVICE INVOICE

Deliver To:

Invoice To Account No: 6597 FRED HORWATH

14640 WALDRON ROAD WALDRON MI 49288

Bus Phone: 517-286-6376

FRED HORWATH 14640 WALDRON ROAD WALDRON MI 49288

Bus Phone: 517-286-6376

835244 Invoice Number:

Invoice Date 11/08/2018 Location:

Work Order Number: 148331 Payment Type: Finance

Prv Phone: 517-610-1576		Prv Phone: 517-610-		Page:		4 of 4	
Make/Model:		Meter Serial Number:		EQ ld:		Fleet No:	
John Deere 9660S	TS	2550	H09660S716773	15292W			
Service Reminders	•					ii ii	
H166181	SUPPORT			4.00	\$111.21	\$444.84	N
H171186	SHAFT			1.00	\$272.24	\$272.24	N
H211285	BEVEL GEAR			4.00	\$36.40	\$145.60	N
H217454	HALF SHEAVE			1.00	\$690.71	\$690.71	N
H221379	SUPPORT			3.00	\$130.60	\$391.80	N
H97378	HUB			1.00	\$233.13	\$233.13	N
HXE45928	V-BELT			1.00	\$440.57	\$440.57	N
HXE95935	V-BELT			1.00	\$317.42	\$317.42	N
JD10018	BALL BEARING			1.00	\$25.78	\$25.78	N
JD10384	BEARING			3.00	\$36.00	\$108.00	N
JD39102	BALL BEARI			1.00	\$19.30	\$19.30	N
JD8554	LOCK COLLAR			6.00	\$5.69	\$34.14	N
JD8665	BALL BEARING			2.00	\$11.13	\$22.26	N
M48583	SHAFT KEY			4.00	\$6.29	\$25.16	N
R31378	O-ring			1.00	\$3.85	\$3.85	N
Miscellaneous	Description			Quantity	Net Price		Taxed Ind
3749	FREIGHT CHARGES	NOT TAXED		38.00	\$1.00	\$38.00	N
Miscellaneous (Charges:						

Miscellaneous Charges:

SERVICE ACCESSORIES

\$25.00

Labor: \$6,840.00	Parts:	\$6,036.61	OL&M: \$0	.00	Misc:	\$63.00	Sub-Total:	\$12,939.61
			Finance Inform	nation		1	Labor:	\$7,531.24
Customer PO No:		24	Type: Farm	Plan	Auth	No: 825382	Parts:	\$9,678.01
Tax Exempt No:	OHIO		Merchant No:	56000293			OL&M:	\$354.90
Advisor Code:	S0485N		Card No:	xxxxxxxxxx18			Misc:	\$63.00
		mine it	Bill Code: Credit Plan:		OP WORK	(Sales Tax:	\$0.00
			Great Plan:	249 - DE	FAULT CF	REDIT PLAN	Total:	\$17,627.15

TERMS AND CONDITIONS

This purchase(s) is subject to the terms of the Multi-Use Account, a service of John Deere Financial, f.s.b. I grant the issuer a purchase money security interest, except as limited in that agreement, in the goods described.

Received by:	Date:



www.kennfeldgroup.com

Woodburn, IN (260) 632-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 878-2375 Archbold, OH (419) 445-1565 Edgerton, OH (419) 298-2302

2748

Napoleon, OH (419) 592-3075 Angola, IN (260) 665-5820 Wauseon, OH (419) 335-7368

15292W

Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

Invoice To Account No: 6597

Deliver To:

SERVICE INVOICE

FRED HORWATH 848609 FRED HORWATH Invoice Number: 14640 WALDRON ROAD 14640 WALDRON ROAD Invoice Date 12/29/2018 WALDRON MI 49288 WALDRON MI 49288 Location: Work Order Number: 151231 Payment Type: Finance Bus Phone: 517-286-6376 Bus Phone: 517-286-6376 Prv Phone: 517-610-1576 Prv Phone: 517-610-1576 1 of 2 Page: Make/Model: Meter Serial Number: EQ Id: Fleet No:

H09660S716773

John Deere 9660STS Service Reminders:

/TBD Feederhouse Retail

COMPLAINT:

01 SERVICE CALL: Upper variable speed cylinder is wobbling. Diagnose and repair.

CORRECTION:

Hours Engine 2748 Separator 1982 Drove to the customers. Removed the shields around the upper feeder house variable speed. Found that the bracket that holds the variable speed was broke. Removed upper variable speed and found that the cogs were worn off. The feeder house drive belt was also shredded and the feeder house position sensor rod was ripped off. Installed new bracket for the upper variable speed. Did not have the shieve and hub to install or the feeder house drive belt on hand. Returned to the shop and returned to the customer's in the morning with the new outer shieve and the new inner hub. Pressed the bearings in the sheive and the hub at the shop, Installed the upper variable speed assembly. Installed the new feeder house drive belt. Reinstalled the feeder house variable speed belt. Test ran the machine and the feeder house variable speed belt was jumping around. Removed the old feeder house variable speed belt and installed a new variable speed belt. Test ran the machine again and ran a lot smoother. Installed all the shield on the machine. Returned to the shop.

<u>PartNumber</u>	Description	Quantity	Net Price	Extended Price	Taxed Ind			
AH136497	SEAL	1.00	\$18.76	\$18.76	N			
AH150499	TIE ROD AS	1.00	\$36.63	\$36.63	N			
AH165609	BALL BEARI	1.00	\$101.24	\$101.24	N			
AXE55405	STRAP	1.00	\$275.91	\$275.91	N			
H217454	HALF SHEAVE	1.00	\$690.71	\$690.71	N			
H97378	HUB	1.00	\$233.13	\$233.13	N			
HXE45928	V-BELT	1.00	\$440.57	\$440.57	N			
HXE95935	V-BELT	1.00	\$317.42	\$317.42	N			
JD10018	BALL BEARING	1.00	\$25.78	\$25.78	N			
R31378	O-ring	1.00	\$3.85	\$3.85	N			
TY25744	Extreme Duty Synthetic Grease	1.00	\$9.99	\$9.99	N			
TY6341	SD Polyurea Grease Tube	6.00	\$4.41	\$26.46	N			
Miscellaneous Charges:								

SERVICE ACCESSORIES

\$25.00

Labor: \$880.00

Parts: \$2,180.45

OL&M: \$0.00

Misc:

\$25,00

Sub-Total:

\$3,085.45





Woodburn, IN (260) 632-4242 Van Wert, OH (419) 238-1299 Coldwater, OH (419) 878-2375 Archbold, OH (419) 445-1565 Edgerton, OH (419) 298-2302 Napoleon, OH (419) 592-3075 Angola, IN (260) 665-5820 Wauseon, OH (419) 335-7368 Remit To: 10305 Liberty Union Rd. Van Wert, OH 45891 Phone: (866) 676-0810 Fax: (419) 238-1841

SERVICE INVOICE Invoice To Account No: 6597 Deliver To: FRED HORWATH 848609 FRED HORWATH Invoice Number: 14640 WALDRON ROAD 14640 WALDRON ROAD 12/29/2018 Invoice Date WALDRON MI 49288 WALDRON MI 49288 Location: Work Order Number: 151231 Payment Type: Finance Bus Phone: 517-286-6376 Bus Phone: 517-286-6376 Prv Phone: Prv Phone: 517-610-1576 517-610-1576 2 of 2 Page: Make/Model: Meter Serial Number: EQ Id: Fleet No: John Deere 9660STS 2748 H09660S716773 15292W

.

Service Reminders:

Customer PO No: Type: Farm Plan Auth No: 898489 Tax Exempt No: Merchant No: 56000293 OHIO Advisor Code: Card No: S0467 xxxxxxxxxxxx1811 Bill Code: 100 - SHOP WORK Credit Plan: 249 - PURCHASE

Finance Information

Parts: \$2,180.45
OL&M: \$0.00
Misc: \$25.00
Sales Tax: \$0.00

Total: \$3,085.45

\$880.00

Labor:

TERMS AND CONDITIONS

This purchase(s) is subject to the terms of the Multi-Use Account, a service of John Deere Financial, f.s.b. I grant the issuer a purchase money security interest, except as limited in that agreement, in the goods described.

Received by:	Date: